Physics 11 Note Booklet #2: Kinematics

Type 2 Projectile Motion Problems: Angled launch

A baseball player throws a ball to a teammate at 18m/s at an angle of 25° above the horizontal.

What are the initial horizontal and vertical velocities? What is the maximum height the ball
reaches? How far away horizontally is the ball caught?
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Physics 11

Note Bookiet #2: Kinematics

Problem: A cannonball is launched at 275 m/s at an angle of 25° above the horizontal.

What are the initial horizontal and vertical velocities? How long is the cannonball airborne? How
far horizontally does the cannonball travel? What is the final velocity of the cannonball?
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Physics 11 Note Booklet #2: Kinematics

Type 3 Projectile Motion Problems: Angled launch from a height

A cannonball is launched from a cliff 45m tall at 28 m/s an angle of 64° above the horizontal.

What are the initial horizontal and vertical velocities? What is the final velocity? How long it the
cannonball airborne? What is the maximum height relative to the ground below?
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Physics 11 Note Booklet #2: Kinematics

An archer standing on a castle 12 m tall shoots an arrow at a velocity of 68 m/s 15° above the
horizontal. It hits a wall 200.0 m horizontally away.

At what height on the wall does the arrow hit?
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